Response Ratio

Methyl Acetate

Amount Ratio

Resp Ratio = 2.14e-001 * Amt + 1.42e-002

Coef of Det (r"2) = 0.994

Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S_M

Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Methylene Chloride
Response Ratio

Amount Ratio

Resp Ratio = 4.66e-001 * Amt + 5.20e-002
Coef of Det (r"2) = 0.994 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Cyclohexane

Response Ratio

Amount Ratio

Resp Ratio = 6.66e-001 * Amt + 6.46e-002
Coef of Det (r™2) = 0.993 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Ethyl Acetate
Response Ratio

0.35+

Amount Ratio

Resp Ratio = 1.61e-001 * Amt + 9.33e-003
Coef of Det (r"2) = 0.994 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Methacrylonitrile
Response Ratio

Amount Ratio

Resp Ratio = 9.50e-002 * Amt + 4.91e-003
Coef of Det (r"2) = 0.994 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Chloromethane

Response Ratio

1.6+
1.4+

1.2+

Amount Ratio

Resp Ratio = 7.43e-001 * Amt + 1.15e-001
Coef of Det (r"2) = 0.992 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Chloroethane
Response Ratio

1.2+

Amount Ratio

Resp Ratio = 5.54e-001 * Amt + 5.82e-002
Coef of Det (r"2) = 0.992 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Diethyl Ether
Response Ratio

Amount Ratio

Resp Ratio = 1.97e-001 * Amt + 1.03e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Tert butyl alcohol
Response Ratio

Amount Ratio

Resp Ratio = 3.11e-002 * Amt + 6.83e-003
Coef of Det (r"2) = 0.992 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019




Acetone
Response Ratio

0 — T - T T 1 T T T T T T 1

0 2 4 6 8
Amount Ratio

Resp Ratio = 8.96e-002 * Amt + 2.61e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D092519S .M
Calibration Table Last Updated: Thu Sep 26 12:03:05 2019
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